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_ 2.4 Bl For z value of 2.33
1 T+2326x . . J56 .
50 M For expression of correct form invelving in
24 denom
2326w —=x2
Width %0 M For subtracting lower frem upper, or mmhtiplying
half-width by 2
=1.18 Aj 4 For correct answer
Z E{THER
03750725 M2 przft
0275£19%6x  J———— Calculation of correct form R
120 Bl (SR M1 if only one side of interval seen}
0195« p <0355 Useof p=0.275
Al 4 Fﬂr correct answer
Ok
334 1.96V 120x0.275x0.725 Mi Caiculation of correct form nptzv¥npq (accept just
23413 < p <42.586 one side of interval)
120 120 Ml Division by 120 (BOTH sides)
0.195 < p <0.355 Bl Use of 0.275
Al 4 | Comrect answer
3 3 sugar ~N(13500, 1200) Bl For (norma! dist with) correct means for both
5 coffee ~ N(1000,720) Bl For (normal dist with) correct variance for both
Total weight ~ N{2850, 1920) M| For adding their variances and means(+ purse)for
or ~ N(2500_ 1920 coffee and sugar
Al For correct mean and variance for their total weight
[ 2900 - 28 so] ie with or without the purse
P(W < 2900) = 1520 Mi For standardising and use of tables (consistent
inclusion/exclusion of purse)
M]:o,sn Al & |Forcomeat answer
OrP(W<2350) = ¥1920
1 21307 Bl For cotrect mean
4 () x=142,8=__{314%-2—_|=503(4) |B1 2 |Forcorrectvariance
140 150
() Hy:p=12andH;:p # 12 Bl Both hyvpotheses correct
Test statistic z= 14.2-12 =3798 M1 —=
”50 34 Al For standardising attempt with se of form n
e For 3.80
150 Ml Or comparing B(3.798) with 0,95 (or equiv. for one
. ) tail test) Signs consisteny,
Ca_mpa:c with 1.645 or 1.282 for one-tatl t Al 5 | Carrect conclusion fi on their z and H,
Reject exam boards claim
5 ()P or 10H) = (0.5x (0.5} x 1oCo + (0.5)'° | ML For P(9 or 10H)
(= 0.01074) Ml For P(9 or 10T)
POT or 10T) = (101074 Mi For identifving omcome for Type 1 exror
Piiype lerory = 0. 0215 AG Al 4 | For obtaining given answer legitimately
(P9 or LOH)= (0.7)7 x (0.3) x 1oCo + (0. D | M1 For evaluating P(9 or 10H) with P(H) = 0.7
(=(.1493) M1 For evaluating B(Y or 10Ty with P{T) =03
P(9 or 1L0T) = (0.3 x (0.73 % 16Cs + (0.3Y°
=0.000143 M1 For identifying outcome for Type 11 error
P{oype H etror) = 1 - 0.1493 -D.000143 Al 4 For correct answer (SR 0.851 no working B2)
= (851
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6 (i) mean=6 Ml For mean 6 and evaluating a2 Potsson prob
PX=35)=016l1 Al 2 |For correct answer
(it) u=2 Bl For p=2 used in a Poisson prob.
P(0)=¢? (= 0.135) Ml For 1 - P(0), any mean
I - P(0) = 0.865 Al 3 | For correct answer
B! For p=24
(i) p = 24, o* = 24 B! For their var=their mean
_195-24 M1 For standardising with or without cc
T s A1 |For ooy oo
I-®{0.9186)= 0.179 (SR Using Poisson with no approximation
- (0.180(26) ) scores Mi Al only )
1
7 0 EX= t[ 2x{1-x) dx M1 For scnsible attempt to micgrate xf(x)
1
JZx —2x% dx Al For correct integrand (any form)
= 0
, 2x°
- Al 3 | For correct answer
- 3 1-0333
1
sz P -2xtdx M1+ For sensible attempt 1o integrate x*f{x)
(if) Var(x) = © - (0.3337
2x* 2x* .. ) 2
3 " a Mi*dep | For their integral- (their mean)
= - (0.333)2
= (.0556 Al 3 | For correct answer
IZ(! - x) dx M1 For identifying both sides of equation
{jiiy © =098
ax-x2 Al For cotrect equation in any form
. =0.98 Mi For solving for x {must be sensible attempt)
¥ -2x+098=0 Al For correct answer
x=0839 Bl fi For applying concept of continuous rv.
859 tonnes
Or M1 For identifying x from a relevant diagram
Al For correct equation
QB rn-5=002 Ml For solving for x
0.58 2 ¢-n=¢ Al For correct answer
Bl 5 | For apphiang concept of continuous rv.
x 1




